Yea r 5 ; I‘-Jttrnbers Vocabulary
: 0 one
represent
ten thousand
Gattegno Chart 926 471 Hundred thousand
million
9 2 6 4 | 17 1 exchange
nine hundred and twenty-six thousand, four hundred and seventy-one mu |t| ple
column
0 500 000 1000 000 place h0|der
100 00 200 000 300 000 400 000 600 000 700 000 800 000 900 000 power Of 10
|‘ } I I I I I I I % I gattegno chart
1 2 3 4 5 6 7 8 9 left right
more less partition
If the counter moves up 1 row then the 403,210 Ascending | Descending interval  ascending
number |S 10 t|mes the Size. 400,000 0 3,000 200 10 0 smallest to largest largest to smallest descending
HTh \| TTh m H T compare
- , greater than
If the counter moves up 2 rows then the o0 eeloo o less than
number is _100 times the size. rounding
0000 100000 @
Ascending means going up DE:EL‘WG;HI’. means going down
The number 174,308 is shown.
_ Rounding
1Qo,obo 200,000{300,000|400,000|500,000|600,000{700,000 800,000 (900,000 e
./ ) numerals
10,000 | 20,000 | 30,000 | 40,000 | 50,000 | 60,000 )‘Q,o@) 80,000 | 90,000
= — Rounding to the nearest 10
1,000 | 2,000 | 3,000 @ 5,000 | 6,000 | 7,000 | 8,000 | 9,000
Z d -2 uI =3 l20 | 21 | 22 |23 |24 | 25 | 26 | 27 [ 28 | 29 | 30 |
100 200 '(\30{)) 400 500 600 700 800 00 VIi=6 VII =7 VIII = 8 -+ 5 : >
mep (10)| 20 | 30 | a0 | so | eo | 70 | 80 | 9 XI =11 XX=20  [XXX=30 | roanedown roune
N = LX = 60 XX = 70 XXX = 80 Rounding to the nearest 1000
1 2 3 45 6 RS CL=150 _ |CC=200 _|ccc =300 | 2000 < 2499|2500 > 3000
. = = = nd d nd
What is 10 more than 174,308? DC =600 _|DCC =700 |DCCC = 800 roune domwn ronne e
- MC = 1100 [MD =1500 |MM = 2000 Rounding to the nearest 100 000
10 more than 174,308is 174,318 | 200 000 «———— 249 999 | 250 000 ———— 300 000
CCXLVIII = 248 DCCLXXXIV = 784  MMXIX = 2019 round down round up
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Mental
+and -

2 apples + 4 apples = 6 apples

o0 oo
2+4=6
2 ones + 4 ones = 6ones 20+ 40 =60
(]} sEEEE® 2,000 + 4,000 = 6,000
20,000 + 40,000 = 60,000

2 tens + 4 tens = Gtens

2 thousands + 4 thousands = 6 thousands

2 ten-thousands + 4 ten-thousands = 6 ten-thousands

=) SO00e

Year 5

Addition and Subtraction

Inverse

operations

7 apples — 3 apples = 4 apples

(I T 1T ] ]
7—3=4
7 ones — 3 ones = 4 ones 70 —30=40
sEen 700 — 300 = 400
aidd 70,000 — 30,000 = 40,000

7 tens — 3 tens = 4tens
Sssssnnnsn{sannsssnnn/Ens===_aus}

T A=
7 hundreds — 3 hundreds = 4 hundreds

0000222

7 ten-thousands — 3 ten-thousands = 4 ten-thousands

SO0 2D

DENERERY
eCc0000[0000
00000000
ee@ OO 26 58 4
00 +13231
© 0000000 —
O %)
3 9 8 1 5
=)

If there are 10 or more counters in a column

we can make

an exchange

Fact family

6,834 @

2,417 + 6,834 = 9,251
6,834 + 2,417 =9,251
9,251 — 2,417 = 6,834
9,251 — 6,834 = 2,417

9,251

2,417

6,834

Additionis the inverse of subtraction

Subtraction is the inverse of addition

Vocabulary
Add subtract
sum altogether
minus
difference
exchange
multiple
approximate
estimate
rounding
inverse
increase
decrease

TTh | Th H T
eo00 000000
2 08080000 1
PP 0000 31815512
00|o - 13205
213|377
2 3 3|7 |7
There are not enough __ones _ ,solneed to

exchange 1 ten

for 10 _ones

You can use the inverse operation to check this addition.

Th/H T O Th H T O
5/4/8 5 9 8 9 5
+ 4/4/10 —|5/4/8|5
9 8 9 5 4.4/10
ThiH|T O
9. 89 5
—l4l4a]1 0
5|48 5

Rounding to Estimate
41 635 + 7386 = 49 021
Round to ten:

41 630 + 7380 = 49 010
41 630 + 7390 = 49 020
41 640 + 7390 = 49 030

Rounding is not as accurate when both numbers are rounded up.
A better estimate comes from “rounding” one down and one up.

Estimating on a Number Line

- .

The arrow is about 3 of the way across the
line so it is 40 000.
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Year 5 Vocabulary
Multiplication and Division A (part 1) Multiply
product
divide
@ & O -=: The 15t multiple of 3 is 3 divisible
3x1=3 18x1 9 X2 multiples
Factor pair :
o0 @0 __ ™ 27 multiple of 3is 6 A factor is a number that divides into another number exactly, e comn;on n::u It||||:>les
® 00 3x2=6 without leaving a remainder. Systématically
factor
e @ O The 3" multiple of 3is 9 20 A common factor 3x6 6x3 prime number
=9 3x3=9
: : : is a factor of 2 square number
or mare numbers. The factors of 18 are: 1, 2, 3, 6, 9 and 18 cube number
3,6and 9areallin 3,6and 9 areall
the 3 times table. multiples of 3 place Value
column
Multiples of{2] Integers that x times the size of
2 a4 6 8 10 (12 14 Prime have exactly gattegno chart
Multiples of@ The foctors of 20 are 1, 2, 4, 5, 10 and 20. numbers two factc-ars are inverse
4 8 12 16 20 24 28 : called Prime
The factor poirs are: Numbers
Multiples of 6] 1 and 20
6 12 18 24 30 36 42 2 and 10
) & and 5
A common multiple of 2, 4 and 6 = 12

Is 1 a prime number?

Prime number: a number with exactly two
factors

3
————
e 000
cube
000

4
3 rows of 3 counters is equal to 9 counters :N

What are the factors of 1? 1
1x1=1

How many factors does 1 have? 1

—
BlxBl=9 4 :has one fictor.h e fact
_ rime numbers have exactly two factors.
The product of an integer multiplied by itself >< 4 =64 1is not a brime number.
5= 25 isa square number. 16 . P -
64 is a cube number. 5ufsfe1l5

§=5=25
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Year 5 TTh Th H T
Multiplying T . . e . TTh Th
w10 100 ) Multiplication and Division A 4 7000
[ w [ 7 MO\ ndio00
7 | g (part 2) Dividing by o L
10, 100 and 4 7 0 0 47,000 + 10 = 4,700
o [ v | v [ 1000 T [ w7
7 8 0 78 x 10 = 780 4 7 0 47,000 < 100 = 470
Th H T e 1) To divide a number by 10Jeach digit moves Tth | Th | H T H
21 s 0l o 28 % 100 — 7.800 to the right on a place value grid. 4 | 7 | 47,000+1,000=47
H;b" 'T"Bb" 0 [T] ’ 78 % 1.000 — 75 000 2) To divide a number by 100]each digit moves — e T BT
' - /9 . . umber ivided by | Divided by | Divided by
to the right on a place value grid. o e 1,000
1) To multiply a number by 1[0]Jeach digit moves 35,000 3,500 350 35
1 | tothe left on a place value grid. 3) To divide a number by 1,000)each digit moves (22.000) | 2,700 270
to the right on a place value grid.

Look at the place value chart to see how the digits move one place to the right.

2) To multiply a number by 100 each digit moves

2 | to the left on a place value grid. 723si00=7
[T
3) To multiply a number by 1000 each digit moves H|T|O - 1244
3 | to the left on a place value grid. e
7 2 3¢ 2 ¢ A
-
2
/2|3
You now need to include a decimal point in the answer to show that the 4 is now

worth 4 tenths.

= | 24+10=24

50 isten times the size of 5

See how each digit has moved two
place values to the right?

723 +100=7.23

‘I.wll’b;i.rl“q:ls]fy gdlli Prilna.r]r“ School
50 is ten times greater than 5 Beiting Beticr never itops




Year 5 Vocabulary

Equivalent . . .
- Fractions A (Part 1) Mixed numbers and Equivalent
improper fractions unit fraction
Equivalent fractions 1 5 non'unl_t f!’aCtIOI']
X SC e _> b An improper fraction has a numerator which is 5 mU|t|p|Ied
5 25 = .
— greater than or equal to the denominator. 3 divided
Y — common factors
12 ] : i i
3°6 1 —1 ., , ||Thedenominator is _5_times the numerator in Htx:d, numbﬁrsl whole <+ 51 E_...-frustinn |mprop(>:|er fracbtlon
1 5715 | | both fractions, so the fractions are equivalent . contain a whote 2 mixed number
I — ’ number and a fraction. whole part
- Converting a mixed number to an improper denominator
1_2 - fraction. numerator
e — greater than
ARSI A A partition
\IDNPADADY L .
IRRRRRRERNND 56 = ©
A [TTTT1]
i3 ;5.8.8 .8 5 _29 i
412 8 8 8 8 8 8 LT TTTT ) 5xz="%
./ Crrrrri| °°
. L [ [ [ ]
" I notice that with equivalent fractions, | T 1 1 ] | ‘j\, :1
you multiply the numerator and the l @@) - 6
. denominator by the same amount. : :
Write the fractionsin descending order. We can compare and order fractions by using common Converting an improper fraction to a mixed number
. o . denominators.
Write the fractions in ascending order. 3 3 3 3
5 1 @ 3 0 & © — 2
Ordering 6 § § 5 % i_r 1_?1 11 smm
fractions When fractions have the same numerator, < e F B
When fractions have the same denominator, the_smaller the denominator, the greater & 10 T m \':Ez
the smaller the numerator, the smaller fraction. 1k is, Ac -
s s s s 7 ¢ [ | | S BT 71
5 9 9 3 5 8 9 10 ORI PRI 3=23
\#’ba'.rlre:ls]cy C.E. Pri

geiting betier mover atops




Adding

fractions

-.le
+
N~ o
Il
~ o
Il
[
N

When adding fractions with
the same denominators, | just
addthe numerators .

Year 5
Fractions A (Part 2)

(]
ul| =
+
|
Il
)]
Ul

Subtract from a Mixed Number

Different methods to add mixed numbers

=5

viw

1
2§+3

vl

I'm going to add my whole numbers ‘
and fractions separately.

S

CITrrrri1 [CCErETrTd
LT TT T[]

1,3_+4
2+3=5 1,3_4
5 5 5
The mixed numbers can be partitioned into a whole part and a
fractional part.

starting number

Subtract from a Mixed Number - Breaking the Whole

1,33_.29_454
2§+3§—5 5%
L [ [ ] | LT [T 1
L[ [ | | |
LT T | LT I [ 1|
LT T T[]
1_ 11 3_ 18
5= 3575
11 18 29
I
I’'m going to convert both mixed
numbersto improper fractions first
21+5 58 Subtracting
/ 397 9 Fractions
1 5
2 4+ 42
3 9
3 5 8
2 + 2 +2=2"
9\ 9 9
8~
a 1_3 2 _3
9 "8~ 8

| am going to make all of the
denominators 9

| will use equivalent fractions to help me.

find the

subtract
equivalent fraction

10 _ 3 _,7
5 " 813

| |

LT T T

| e [ [

Vocabulary
Equivalent
unit fraction
non-unit fraction
multiplied
divided
common factors
improper fraction
mixed number
whole part
denominator
numerator
greater than
partition

5
8 _ 1

The mixed numbers can be partitioned into
a_whole partanda_fractional part.
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